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Test-1: General Awareness

1. Inthepresenteontextolsocio-economec development, the
concept of “meeting the needs of the present without
compromising the ability of future generations to meet their
needs” is popularly known as the concept of

H#Sumimhl’.: Development 2) Uniform Growth

3) Target-driven Tirowth  4) No risk-Me growih

51 Social Viability

2 Which aflthe following statements about the agricultural
sector in the economy of India isfare correct?

'.J,.H Agricultural growth has reduced povery of the
people locally and, through its external effects, alse
in muny other parts of the country,

Food and nutrition security in the country has
increased substantially.

{C) The area of cultivation has increased in recent past
a9 agricullure has become a full-time emplovenent
for the people, which was not so a few vears back.

1y Oaly A Xy Only B 3pOnlyC
oth A& B anly SJANAB&C

3 recent yeary it las been pecognized increasingly that
a large segment of the rural population is out of the
reach of the formal banking services. Which of the
following 1s the name of the concept floated to bring
mast of thess rural persons in the net of financial and
banking services?

1} Corporate Governance inancial Inclusion
3) Wealth Creation ) Credit Managetment
) Risk Management

4 Asweall know, the present patbern of agriculiural growth
has resalted im & variety of environmental degradation
of soil, water, air and bio-diversity, Which of the following
izfare the main practice(s) of the present pattern of
agriculture, which has given birth 1o such degradation?

'Jél Excess use of chemical inputs in the form of
fertilizers, pesticides/insecticides and boosters
bandonment of traditional practices built over

several millennia

&= Continuous flogging of land through multiple
cropping

1) Only A 2)Only B J10uly €

#) Both A & C only IA.B&C

5 As we all know, the per capita fifdd availability is far
betier in the country these days and it has also reduced
our dependence on imparts of most of the food com-

z The Information FProvided hcr‘éuﬁ Gnﬁvlﬁrﬁw AUGLIST w“—-;- Simpay

maditizs, Which of the following are the agriculiure-
related things for which we are still dependent on imports

largely?

{A) Wheat Sugar =) Edible oils =) Pulses
1) Only A & B both 2) Onby C & D both
3)OnlyA,.C&D A OnlyB.C&D
DANAB CED

i As we all know, migration of people from one place to
the other has always been a topie of imerest to
ecconomists and secial sclentists, Which of the following
tnigrations is called a historical one and is ofien referred
as “Mother of All Migrations in the World™?

}‘lmm:mtlnmul migration from Europe to America

and beyond

2 Migration of agricultural lnbour frem Bihar and UP 1a
various states in India

3) Migration of Keralites to Gulf countries

4) Migration of Gujaratis to USA and UK after the
gutbreak of plague, communal riots, and several major
earthquakes in the st

5) None of these

7. As per the recent ressarch reports published in papers/
journals, more than half of all child dzaths are associated
with malnutrition. Which of the following is/are the major
reasons of malnutrition in India?

Jg; Low birth weight because of poor nuiritional status
of the mother
A High levels of diseage caused by poor hygienic
conditions and polluted water
A Improper feeding practices
1} Omly A 2} Only B
AlAB&C  5) Mooe of these

B Theagro processing sector in India has shown a positive
growth in recent past. What is‘are the major factors which
hashave contributed to this growth in this ssctor?

/wﬁm{sa‘hm in consumption pattern. Food
budget is allocated o high-value commandities like
raw fruits, vegerables, livestock, ete.

‘@r Growth in export demands for high-value and
processed food ttems. Henee more people are taking

p that business.
More and more people are migrating to citles and
urban arcas where demand for processed food is

3)Only C

high.
1} Only A 2yOmly B 33 Only C
ANABEC  5)None of these
dhe Orici—a 1
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The phenomenon of the decline, howsoever initiated or
instigated, occurring in some measures of aggregaie
economic activity and causing cascading declines in GDP
and other key measures of economic activity in the terms
of economics, is called
1y terminal growth

1) business eyele

5) doming effect

As we all know, the the Govt of India has given much

attention to improve public health in the country. Why

is 50 much attention given to improve the same, which
in the opinion of the general public, & a personal goal
and should be an individual effort?

{A) Poor public health conditions take economic toll in
WAFIOUS WRYS.

ovi wishes to invest in it because it wants 1o
prevent dissases rather than treat them,

(C) If the general health of the people in a country is
weak, investors do not wish to invest in that country.
Even toorists do not want to visit the land.

1)Only A Iy B 3)OnlyC

DANAB&C ~5) Mone of these

The Govt of India is giving much importance to the

development of Special Economic Zones™ these days,

Which of the following statements is/are TRUE about

the features of the Special Economic Zones?

Jﬁ Special Economic Zones refer 1o areas within a
country where some of the economic laws and
resirictions of the land are relaxed.

{B) Special Economibc Zones are being developed 1o give
an opportunity to the weaker ssctions of society,
who did not have enough opportunities to develop
financially and economically.

{C) In Indis, the development of Special Economic
Zones started way back in 1980 when the frst such
project was lzunched in Kamataka,

2)Only B 3}Only C

5) Mone of these

recession
4 deflation

4AlABEC

12, Indin has several major dams almost in al] states. Which

Note

of the following wasfwere the reasons for which these
dams were buili?
Flood control and water supply
(B} Relocating the population
ﬁ Power generation
Irrigation facilities
I)OnlyA& B 2)OnlyC&D AOnlyAC&ED
4)0nly B, C&D 5) None of these

. Which of the following is not a major concept frequently

referred in the economic literaure of Dr Amartya Sen,
the Mobel Prize-winning economist?

1} Positive freedom ethics

3y Capability to function  4) Megative froedom
5)'Welfare economics

The

14

15

_MNABARD

Ia,

17

Which of the following statemens isfare correct about
the Pradhan Mantri Gram Sadak Yojana?

. The Yojana was launched in the year 1955 with the
alm 10 connect esach and every village with the
Mational Highway.

The Yojana was to be completed by the year 2000,
But only 60% job hes been done so far.
The funds for the Yojona were arranged by a loan
from the Asian Development Bank, which sanctioned
an amount of Rs 1,20,000 lakh croce that time, India
hns mvailed 95% of that amount but the job done is
only 60%.
1) Omly A 2)Only B
4)AllA, Band C one of these
Which amongst the following organiztions make major
credit policies for the Regional Rural Banks (RRBsT
2) Asian Development Bank
4 State Bank of Indin

3 0aly C

3) World Bank
5) Mone of these
As we all know, the Govi of Indiz has launched many
schemes for the welfare of the workers from unor gzanized
sectors. As per recenl estimates, about what por zent of
all workforce in India is engaged in informal or
unorganised sector?
150% IITe 48 J)ole
Which of the following is'are troe about the Indira Awss
Yojana of the Govt of india?
The scheme was the sub-scheme of the Jawak--
Rozgar Yojana (JRY),
~The scheme was launched to provide housing
accommodation to rural people Below Poventy Line
PL) omly.
Under the scheme, the alloiment of the house is done
in the name of the female members of the household
in the joiot names of the husband and wife.
1} Only A 2 Only B 3yOnly C
SATAlA, Band C %) None of these

18, Aswe all know, the Gowvt gives enough emphasis an the

development of Small Scale Industry (S51) Sector, What

is the role of the 551 sector in a developing economy like

India?

A, 581 sector plays an important role in development of
ecanomy as around 40 per cent of the GDP comes
from this sector.

B, 551 absarbs surplus labour and helps in equitable
distribution of income.

et pproximately 3 5% of total exports of India comes

18,

from SSI Sector.
13 Cmly A ) Only B Py C
43AILA, Band C 5) None of these
Which of the following is not true about the Mational
Rural Emgloyine Cuarantee Act {(NREGA) 7
A, NREGA was enacted first to provide job to rural

Information Frovided dsoesda ~Seiyr Smisrel orescaagn It May Vary the Original.
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now  people in
also avail the jobs under it

J};)JREG.& is applicable in all districts of the country
" now

it Areds can

. NREGA initially provided 100 days' job but now the
number of days has heen increased to 150.

13 Only A ¥ O0nly B
3 Cnly C 4pAlA, BandC
5) Hone of these

2. Which of the following is mol true sbout National Food
For Work Progremme (NFFWP) of the Govt of India?
FFWP was launched to provide additional
resources to the most backward 150 districts of India,
B. The beneficiary of the NFFWP is required to work
for 5 days a week for ot least 10 weeks ot a stretch.
C. The beneficiaries of NFFWP are paid their wages in
the form of wheat and rice for theirwork, The payment
of ration i done to them daily at §.30 pm or immediately
after the day's work is over, which should be latest

by 930 pm.
e Only A, 20nly B 3)BothBand C
4)0mly C 5) Both Aand B

21, Which of the following schemes is/are now the pari of
the Mational Rural Employment Guarantee Act
(NREGAJ?

A_ Pradhan Mantri Gram Sadak Yojana
—aationn] Food For Work Programme
poama Grameen Rozgar Yiojana
1) Omly A 2) Only B e2PBothBand C
AjAllA Band C 5) None of these

2 Micro credit or micro finance is a novel approach 1o
banking with the poor. In this approach bank credit is
extended to the poor through

__,.,1'] Sell Help Groups
3} Cooperative Credit Socheties
4) Reserve Bank of India
5} Emall Industries Developmient Bank

23. Which of the following is‘are the major problemi{s) of

= rural IndebEdnessT

e an borrows year after year but is not
in a position to clear off his loans.
ﬁl The size of the loans taken by the Indian fanmer is
too large whereas his agricultural output is not large
encagh to poy off his debt.
_i.g....)-'lnst of the farmers are still tnking loans from the
informal sources, who charge a very high rate of

2) Anganwadis

Intesest.
1} Only A 2)Omly B 3)OnlyC
4)OnlyA & B AllA B&EC

24, The concept of micro finance was launched in which of
the following countrizs initially?

#ﬂangladesh 2} India
4) Israel 5} 5ri Ladka

3} Egypt

NHote

i The Information Provided bherpe iz Qoly for refersnce.

agency?

1) Cooperative Society oneylender

1) Commercial Banks Regional Rural Banks
5) Government Agencies

26. The Mational Bank for Agriculiure and Ruoral
Development (MABARIY) gets some amount of its funds
from which of the following orgenizations for its various
schemesT h

id Bank (B)Bank of America DA
13Only A 2} Only B 3)Only C
HANABEC Only A & C both

27. The Mational Bank for Agriculture and Rural
Development (NABARD) was established in the year
11970 BH%EZ 31977 431980 51975

28, Which of the following statements is‘are TRUE about
the activities of the NABARD?

MNABARD has the responsibility to inspect RRBs
,ﬁg} and Cooperative Banks,

Mﬂﬂm maintaing Regearch and Development
Fund 1o promote research in agriculture and rural
development.

{Ch NABARD iz a wing of the Planning Commissian of
- Indiz,

1) Only A ) Only B _AeBoth A& B
4)0nly C SAlAB&C

29, The Union Budge: for 1995-%6 proposed the creation of
RIDF in NABARD, with a corpus of Rs 2000 cr. What is
the full form of RIDF 7
1} Rural India Decoration Foram
2} Research and Industrial Development Forum

Rural Infrastructure Deve lopment Fund
4) Research and Industrial Development Fund
5 Wone of these

30. Which of the following statements about the NABARD

is'arc TRUE?
A) NABARD has a dual role to play as it is an apex
and a refinance institution,
ABARD services as a refinance instiiution for all
kinds of production and investment credit o
agricultyre and cottage and village industries,
(C) NABARD accepts short-term deposits from the
public like any other bank to improve its capltal base,
1} Onky A 2 Oniy B 3) Only C
OnlyAEB  SIAIABEC

3L The head office of the National Bank for Agriculnere 8
Rural Development (NABARD) is located in
1y MewDelhi  2) Hyderabad urnbai
4} Lucknow 5) Mone of these

32 India’s first transgenic crop was -

1) Sugarcane  2) Brinjal B Cotian
4) Potato 5) Mone of these

It May Vary the Original.
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on & major issue in the mectings of the
Organization (WTO). What was the ssue?
1} Use of geneticatly modified crops
&-vaiding subsidy 1 agro-products
3) Method of deciding cost of crude oil by OPEC
members

4) Use of hydrogen as alternative fuel in future
5y Mone of these

34, Who amongst the following is the winner of the Raman
Magsaysay Award 20087

forld Trade

F?'thah&h‘luﬂukiui.ﬁm
} Dr Amartya Sen 3) s Barkha Dute
4} Dr M3 Ahluwalia 5) Mone of these

35. Which of the following is the organization, which is the
apex body in cooperative sector and deals in
procurement, distribution, expont snd import of selected

agriculural commodities?
SAFED NHABARD 1)51DBI
{EXIMBank  5) Mone of thess

36 Mahesh Bhupathi and Sania Mirza won their first Grand
Slam Title together when they defeated their opponents

in the

1) Wimbledon _Ad=tustralian Open
33 Davis Cup Final 4} USOpen

5) Wightman Cup Final

37. Which of the following states in India is st the top in
the list of those who availed credit through Self Help
Giroups (SHGs)?

I} Andhra Pradesh  2) Goa
#4) West Bengal erala

38, Which of the following is the amount Govt of India has
sanctioned 10 provide relief to farmers so that they may
come out of their debe?

3) Arunachal Pradesh

1)Bs10,000er  2)Rs20,000cr  3)Rs30,000cr
4) s 40,000 er one of these

39, Which of the following is‘are the goals of the Bharat
Mirman? '

w Tubwi{mmltiﬂulaneumhectmmdﬂmm

(B) Toprovide conked food to about 12 crore children
in their school itsell
Al To construct 60 lakh additional kouses for the rural

poar.
1) Only A 2)Unly B 3) Only €
SArBothALC 5 BothA& B

40 As we all know, flood is a major natwral calamity in
India. ‘Which of the following statements is‘are rue
about the various aspects of flood and flood manage-
ment in India?

..4:” Out of a total geographical area of 329 million
hectare, about 40 million hectare is prone to flood.

ﬁ Till 2007, shout 18 million hectare was provided

The Information Provided
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of embankments, drainage channels and raising of
platforms,

{C) Since the installation of & flood forecasting system in
2004, no major lood has taken place i India.

1) Only A 2)Cnly B ) OnlyC
ﬂoﬂ\&&ﬂaul}' 5)Cnly B & C Both
41, ich of the following is an easy way of providing eredit
o thee farmer community?
isan Credi} Card 2} Indirs Vikas Patra
1) National Saving Certificates
4) Loan agwinst gold 5) Mone of these

42, India recently test-fired & new surface-to-surface missile
called

1) Meghavarna 2} Columbus 1) Amariksha
4) Pawan :zﬁl‘l.wrﬂ

43. The Summit of Leaders of the G-20 was organised in
Movember 2008 in
1) Paris 1) Tokyo _;J..Wnshingm DC
4) London §) Milan

44, Who amongst the following is the suthor of the book
Between the Assassinations?
1) Dantelle Sieal ) Amita Desai 33 Aravind Adiga
4) Mandan Milekani 5) Arundhati Roy
4% Who armongst the following is the winner of the Jawaharlal
Mehru Award for International Understanding for the yenr
19957 (The Award was given in Movember 2008.)

|} Alber: Bayona 2) Mallika Sarabhai
1} Dr Romila Thapar 4} Dr Mohammed El Baradei
Hosni Mubarak

. Which film got the Golden Peacock Award in the 39th
Internutional Film Festival of India held in December 20087

1) Good Might 2} Adkcasa Kusum
3) The Song of the Sparrow __dgsTulpan
5) None of these

47. Who amongst the following is the Union minister for home:
affairs at present?
1) Sharad Pawar 2) Lalu Prasad Yadav Chidambaram
#) Shivraj Patil 5} Mone of these
4%, Bhivra] Singh Chauhan i the new Chief Minister of which
of the following states, where elections were held in
December 20087
1) Uttar Pradesh ) Mizoram 3) Delhi
adhya Pradesh 5} None of these
MC Marykom, who won a gold medal for India in an

internatiomnal s event, Is basically a
1) Table Tennis player 23 Boxer
3) Badminton player 4} Marathon runner
5y Golfer
50. John Key, whose name was In the news Is the Prime
Minister of
1) Australia 2y United Kingdom  3) Canada
4} France ew Zealand

t May Vary the Oorigimal.



Note

Test-11: English

Directions (). 51-57): Read the following passage
carefully and answer the questions given below it. Certain
phrases in the passape have been printed in bald to help you
locute them while answering some of the guesthons

Aryome wio forms his own opinions and belief will fecl that
he owes no responsibility to the mojority for his conclusions, IF
he is 2 gemuine lover of truth, ifhe is inspired by a passion for
seeing things as they are and a detestation of holding ideas
which do not confiorm to facts, he will be wholly mdependent of
the acquiesce of those around him. When he proceeds to apply
his beliels in the practical conduct of life, the position is
different. There are then good reasons why his attitude should
be lessrigid. The society in which he is placed s an ancient and
compasite growth. The people fram whom he dissents have not
come by their opinions and institutions by 8 process of mere
haphazard, These opinions and customa all had their origin ina
certain real or supposed fitness. They bave a ceriain depth of
root inthiz Hives of a proportion of the existing peneration. Their
fitness for satisfying needs may have misplaced, and their
cangruity with one another may have come to an end. That is
only ene side of the truth. The most passionate propagandist
«cannot penetrate (o them.

In common language we speak of a gencration as
something possessed of a kind of exact unity, with all its paris
and members homogeneous. Yet plainky it is not this, ltisa
whole, but a whole in & state of constant flux, its factors and
clements are eternally shifting. It is ool one, bul many
generations. Each of the seven ages of man is neighbour 1o
all the rest. The column of the vetersns is already sinking into
the last abyss, while the column of the newest recruits is
forming. To its tradition, the tendency and its possibilities,
only a proportion of each can have nerve coough to grasp
the banner of a new truth and endurance 1o bear it along
rugged and untrodden ways,

Then we must remember the substance of which life is
made. We must consider what an overwhelming
preponderance of the most pergistent energies and most
concentrated interests of a society must be absorbed between
material cares and the solitude of the affections. It is obviously
unreasonable fo lose patience and quarrel with one's time
because it is tardy in throwing off its institutions and beliefs,
and slow to achieve the transformation which i% the problem
in fromt of it, Men and women have to live. The sk for most
of us is hard enough to make us well pleased with even such
imperfect shelter 25 we find in daily use and customs. To
insison & whele community being made st once (o submit 1o
the supremacy of new practices and ideas that have just begun
to acclaim themselves to the most advanced speculative
inbelligence of the time. This, even if it were a possible process,
would doe much to make life impracticable and to hury on
social dissolution,

: The Information Provided here is Only for refersnce
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changes in social semng-,s
bncu.usa lh:y will
Iy reterd the progress 2} lead 1o social disintegration
3) give vitality to social life
4) make & socicty oo narmow to survive
5) Mone of these
52 The hard task, according to the author, is o
{A) chinge the sociely
(B eama living
{C) change according to times
1}OnlyAadC 2)OnlyBandC 3)Only Aand B
4} Only A 5)0nly C
53, The problem, which is discussed in the passage, reflects
1} the realist attitude of the author
2y the pessimistic views expressed by a group of people
I a doctrine that explains the role of cultuns
4) making good use of a genuine lover of truth
5) Mone of these
3. Which of the following best describes the phrase "apply
his beliefs in the practical conduct of life” as used in the
passage?
1} To indoctrinate what he believes
2} To denotnce what he belleves
3} To preach what is practiced
4} Tr mractice what is preached
5) None of thess
55. According to the agther, a peneration, which is
heterogeneous, should be percsived as
1) sum total of the parts of the sub-system
2} a whole, which iz not a total of the parts
3} a fragmented group of people
4} kndividual interlinkages connecied through syncegy
3} Mone of these
56, According to the passage, which of the folbowing is true?
1} Impatience of intellectuals with practical problems &=
the source of progress.
7) Day-to-day concerns dominate the life of most people.
3) Imtelbectuals are the leaders of social transformation.
4) Soclal change will be slow in the absence of effective
leaders.
5) Mone of thesa
57. According to the passage, from which of the following
do the customs and traditions originote?
1} Ignorance of events happening around
2) Leadership prevailing in the cortemporary society
3) Social utility of the societal sei-up
&) Conflicts of individuals living in society
51 Mone of these
Dhirecthons (). S8-62) In cach of the following questions,
an idiomatic expression and its four possible meanings are
given, Find oul the correct menning of idlomatic expression
and mark the number of that meaning as your answer in the
amswersheets, IFyou do not find any correct answer, mark 5},
e ‘None of these”, a3 your answer.

not desirable

« It May Vary the Original.



Lo p;ﬂ!ﬁﬂﬁﬂﬂ!ﬂ k=g 19

Cff)‘??(‘ésrﬁrr?\“entAdda com All Exam Stud

l} 5qunndumg EWEY 2} amounts o
3} incurring 4) taking chance (o meet
5) Mone of these
38, stand over
1) vindicate 2} postpone 3} enduring
4} support 5} Mone of these

&0 knocked up
17 get exhausted 2) die in an accident
3) wasderad about 4) sold at an auction
5) Mone of these

6. make over
1) prave 2) decipher 3) discover
4} give in charity 5) None of these

62 workon
1) salve 2)influence 3)excibe

4} apply force to  5) None of these
Directions ((). 63-75): Read each sentence to find out
whether there is any grammatical errorin it The error, if
any, will be in ome part of the sentence. The number of that
part is the answer. If there is no error the answer B 5L
(Ignore errors of punciuation, if any.)
63, Selling peanuts fon the road ks / the anly means of
1y 2) 3
earming / in mpm of most of the people)’ Mo error
5)
64 Her talk was fjudged.bynmlya'u one of the most
1) 2) 3
important talks / given in the seminar./ No emmor
) 3
65, The boy who was guilty with./ having stolen the cell
i N
phone / came out / with the wuth, / No efror
3 4) )
66, She is the teacher/whom | know'has helped my sonfin
] 2) 3)
the examination. No ermor
4) 5)
67, Youcannot demand | all voor anticles / unless you do not
1) ) 3
fgive advance notice./ No error
4 5}
63 We insisted, but neither / Jona nor her assistant / ane
) i)
ready to / work on Sunday.’ Mo emor
3 4) 5)
&9, There is just not enough / time in my unit 1o sit round /
) 2)
talking about how we feel! about each other. / Mo emor
3 4) 5
0. The actwill be passed / with a comfortable majority ifail
1) ]
{ the partisans of / her group favours it / Mo error
3 4) 3)

75.

ad [/ enterad the adrpnr[.flhan 1¥

EJ )

Tilak. { Mo error
3)
An anti-terrorism cell is opened / by the town police /
1} 2)
thres months ago /as & precautionary measure.' Mo ermor
3 4) 3}
The artist whuw-us giving / detailed description of / the
2)

sculptures was / speaking fluently French. / Mo emor

k) 4) 5)
Martin would artempt / 1o open the umbrelta / when her

13 ]
spectacles slipped off/ and fell down. No errar
) 4) 5)
Ifyou had not/reached so quickly, fwe might wellhave
1) Z) 3)

had a disaster. No error

4) 3
Directions (. 76-85): Which of the phrases 1), 2), 3)

Hub
4)

and 4) given below each sentence should replace the phrase
primted in bold type to make the sentence grammatically
correct? If the sentence is correct ns it is, mark 5), le *No
correction required”, as the nnswer,

T6. She had created problems even when she was on training

while she was still waiting to take full charge of her duties,
1) she has been waiting 2 she had been still

3) she would have still 4) ehe has still to wait

5) Mo correction required

. The director insisted on his orders being carried out with

the letter.

1) forthe better  2) to the leter 3 by the letter

4) into the lener  5) Mo correction required

He admired the speed with which Koti completed the work
and appreciating the method sdopted by him,

1} appreciate the method being adopted

2) apprecisted the method adopted

3) appreciate the method of adoption

4) spprecinte the adopting method

5) Mo carrection required

Unless | get some break, [ should not be able (o do any
miare work,

1) shall not be able 2) should be unable

1) shall not be unable 4} should not be unable

5) Mo correction required

Some people have a habit of wearing their heart on their
sleeves.

1) bearing their heart on their sieeves.
2) wearing heart on their slesves.

3) wearing their heart on slesves.

4) bearing their heart on their sleeve,

5) Mo correction required,

Mote 1 The Information Provided here i=s Only-for refeszence. I May Vary the Original.
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. Wour plea that vou were thorough ignorsat of the conse-
guences can not be accepted.
1) had thoreugh ignorance
2) were thorowghly ignorance
3) had thoroughly ignorant
4) were thoroaghly 1gnorant
5) Mo comrection required
82 1had mes him after the party where he had been given an
inspiring speech.
1} when he had
1) where he would have
3) in which he wns given
#) where he had
5) Mo comection required
83, Because of scientific progress, we expect to live better
them our parents have.
1} should expect to live better than our parent
2) expect to live es good as our parenis Hve
3) expect to live better than our parents did
4) expected to live better than our parents
5) Mo correction required
84, 1cannot put up with that nasty fellow,

. 1hputup Z) put at
3) put on with &) put up in
5) Mo correction required

B 1t is useless to run away from every danger; risks must

not be tnken.

1y no risks must be

1) amy risk must be

3} although risks must be

4} some risks must be

5) Mo correction needed

Directions (). 86-200: In each question below, o sentence
with four words printed in bald type B8 given. These are
numbered xs 1), 2), 3) and 4). One of these four words may be
cither wrongly spelt or Inappropriate in the context of the
sentence. Find oot the word that & wrongly spelt or
inappropriate, if any. The number of that word is your anywee
I all the four words are correctly spelt and also approprinte
in the context of the sentence, mark 5), ie *All correct’ as
Your answer.
85 Afler severel rounds of discussions the Manager

1) 2)
accented 1o our proposal. All correct
3) 4) 5)
87, The indafatigable zeal and fearlessness with which the
1} )
youth worked rejoiced me bevond measure. All carrect
3 4) 5
88, He sliped away in the night and reached there in the
1) 2} 3
mornlng. All correct
4) 3)

GovernmentAdda.com Al Exam Study Hub

B9 He let the laugher wash away the un: umdm hﬂﬂ
1) 4
up her hand, All correct

3
o), The suthor also advocated fresh vegetable and fruits as
1) 3 3
naturel diet of aged peoples. All correct
4 5

Directions: (. 91-100): In the following passage there
are blanks, each of which has been numbered. These numbers
are printed helow the passage and against each, five words
are snggested, one of which fits the blank appropriately, Find
out the appropriate word in each case.

It is & pity that we do not kave good books on insursnce
written by Indian authors 91 to the steady growth of literature
on the subject in other countries, especially the USA, whose
insurance kaws and 92 are very much similar to those of cur
couniry. And students studving in our colleges and the millions
of insurance employees appearing for various insurance
examinations have to depend 93 on books written by foreign
authors. As these books muinky deal with the problems of
insurance industry of foreign countries, the 94 of the
nsurance scene in India end the various legal 95 and insurance
procedures remains very weak. To 96 the insurance employess
and the college students who have opted for 97 courses in
insurance with different aspects of theory and practice of
insurance, we should have good and 98 textbooks. The book |
under review written by VMR Nair himself, an experienced
and 99 expert on insurance law based on leading Indian cases,
will be found very useful by students of insurance sector as
& 100 guide 1o the principles of insurance,

81. 1) paving 2} corresponding 3} following
4} emphasize 5) cormecting

€. 1) process 2} product 3) notes
4} currency 5} procedaires

93, 1)slightly 2) upon Ipsull
djat 5} untl]

W |)prove 2) search Iy application
4) understanding 5} acknowledge

o5 1ylaw 2) aspecls 3) experts
4) books 5 loop

9. 1)equip 2)arm 3} decorats
4} promote 5) lpad

97. 1)optional 2) expensive 3) tough
4) deep 5} specialized

98 1) authentic Zyvoluminoas  3)many
4) prompt 5) shining

9. 1) consulting  2) qualified 3irich
4ymerchant )tired

100, 1) bearmed 2) porwerfil 3) ready
4) comprehensive 5) prescribed

is Only-for eferenca . JE. May Vary the Original.
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Test-111: Quantitative Aptitude

Directions (. 101-105): What should come in place of
the question mark {7} in the following questions 7

101, fy = (756 = 67)+ B4

13198112 2250047 26981
4274625 5} Mone of these

2 03+3+333+33+3.03+333=7
1)375.66 2)34580 137593
4135556 5) None of these

103, (73425 - 33267 -22418- 17650) = /| 025 =7
110165 2)9785 HEITD
) 50 5y Mone of these

M4 ~T6x33+221 =7
1)-2287 2)-19304 32287
43 19304 5) Mone of these

105. (34.12- fT196 =1
1) 10801744 10781474 3) 10TR.1744
43 1080, 1474 5) Mone of these

Directions (). 106-110): What shoold come in place of
the question mark (Tyin the following number series T
106 15 H A 130 1

13500 2538 3400 43480  5) None of thess
107. 156 W 48 ps] T

1135 2)148 3125 414  5) None ofthese
108, 124 112 176 420 1488 7
1)8568 2)7140 T2
46150 5) Mone of these
108, 384 381 m M5 M 7
123 725 43
424 5) None of these
110, 282 286 a2 7 e
1366 2)318 326 £H)3IIE  5) None of these

Directions (. 111-115): Study the following table
carefully and answer the questions given bebow.
Anmal Income of Various Individuals over the Years

{Income in Lac Rupees)
Tndividuaks
T IRl Rl ELlF
2002 | 550 | 320 | 480 | 635 | 6.05 | 350
2000 | 565 | 325 | 485 | 655 | 625 | 385
2004 | 5.7 | 3.725] 495 | 7158 | 6428 375
2005 | 620 | 425 | 50| 735 | 75 | 40
2006 | 650 | 450 | 520 | 740 | 725 | 425
2007 | 6.75| 50 | 525 | 748 | 7.285| 4.80
2003 ] 70 | 535 | 530 | &80 | 730 | 510

: The Information

Provided herpgedis only. for reference.

111, What is the spproximate average monthly incoms of A
over the years?

1JRs44.762  Z)Rs48.348 3)Rs53,216
4)Rs51,245 51Rs42,102

112 What is the ratio of the annusl income of B to that of C in
the year 20057
165 2)6:7 31516
H76 5) None of these

113, What is the difference between the total annual income
ofall the individuals in the year 2003 and the tedal annual
income of all the individuals in the vear 20077
1IRs7,36500 2)Rs645400  J)Rs636,500
4)R=T743300  5)Mone of these

114. The annual income of E in the vear 2004 is approximately
what per cent of the average annual income earmed by E
over the yeare?

1}98 286 388
)94 591

115, What is the average annual income of F over the years?
1) Rs4,16,000 2)Rs4,25,000
3)Rs4,01,500 4)Rs4,15,500
5) Mone of these

116. Asha's monthly income is 60% of Deepak’s monthly
income and 120% of Maya's monthly income, What is
Mayn's monthly income if Deepak’s monthly income is
Rs 78,0007
1) Rs 38,000 2} Rs 42,000 3)Rs 36,000
4} Cannot be determined 53 None of these

117. The sum of 5 numbers is 924. The average of the first
two numbers is 201.5 and the average of the last two
numbers ks 196, What is the third number?

1)133 1. Nz
5) None of these

4) Cannot be determined
@ In how many different wn&qﬁu the letiers of the word

‘FINANCE' be armranged 7

135040 pz040

44080 5) None of these
119. The profit eamed afler selling a wrist watch for Rs 4,080

is the same as the loss Incurred after selling the same

wrist watch for Rs 3,650, What is the cost price of the

wrist warch?

1)Rs 3,785 2)Rs3,B00

43R5 1 B65 5y None of these
120, If the numerator of a fraction i3 increased by 240% and

the denominator of the fraction s decreased by 50%, the

3)2510

IRs3,775

3
resuliant fraction is ZE ‘What is the original fraction?
1 2 5
D3 3 2T
4
4} n 5) None of these

It May vary the Original.
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154
10+

Number of students
{im thousands)
=

L= R
i

Colleges

121, What is the average number of students (Males &
Females) passed out from all the collages together 7
1) 38000 ) 48000 42000
451000 5) Mone of these

122 The number of Females passed ot from college C is
approximately what per cent of the total oumber of
Females passed out from all the colleges together?
128 2)30 336
4)25 50

123, What is the difference between the total number of
students passing out from college A and the total mumber
of students passing out from college E7

2y21.000

5) Mone of these

1)20,500
4) 10,000

310,500

Preous e:rs
for

MBA

[ATMA, ITIFT, SNAP, FMS, XAT,
IRMA, CET, JMET, NMIMS]

Prica: Rs 2680 by K Kundan
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carefully and answer the questions below it.
Number of students (mabes & females) passed out
from virions colleges in o year
{Number in thousands)y

total number of Females passed oul from all the colleges

together?

93 Hie:3s

4)25:18 5) Mone of these
125, The nsmber of Males passing out from colléges A and B

together is whet per cent of the number of Females

passing out from colleges C and D togethes ?

N4 240 335 4HH  5)Mone of thess

Directions (). 126-130): What approximate value
should come in place of the question mark (7) in the following

7 (Yoo are not expected to culeninte the exact valwe.)

126. 7428 = 36 = 12=T7

1319

256 2)251 Fy258 4247 5y266
127, 15.2% of T25 = 12.8%olfé13 =7
19110 29088 3)9100 )96  5) W82
128 (36.14)2- (21 28)2 =7
1) 388 2)R53 J) B4 4871 5) BG65
129, Y768 x/aTE =7
1) 150 2)180 N1s0 &) 200 5119
130, A06+D6x0:5=T
13413 2595 33148 41653 5)458
3 2
Jl].Jﬂ%uFﬁDﬁnf; of a number is 504, “Mh!ﬁ%nf?
of that number?
1) 130 NITS 3360
4)350 5} Mono of these

132 The difference between a two-digit-number and the
niifsber obtained by inlerchanging the two digits of the
number 15 %. What is the difference between the two
digits of the number?

133 2)2 i
4) Cannot be determined £) Mone of these

133, In aclass thereane 32 boysand 28 girls. The averape age of
ihe boys inthe class is 14 years and the average age of the
girls inthe class i 13 years, What is the averape age of the
whale class? (Rounded off to two digits after decimal)
1y13.50 31353 31251
4)13.42 51 Mone of these

134, In atestconsisting of 80 questions carrying one mark each,
Arpita answers 65% of the first 40 questions correctly,
What per cent of the other 40 questions does she need to
answer correctly to score T75% on the entire test?

1) 60 Z)80 N5
4340 5y Mone of thess

135, Manisha invests an amount of Bs 39,300 for 4 vears at
the rate of 4 pcpa. What amount of approximate
compound interest will she obtaln at the end of 4 years?
1}PRs 6,675 2)Rs 6,650 I)Rs6.288
4jR=6 356 SRs6450

1 IR INTETHEC IO CrOVIOEN NErE T NI Tor reference. It May Vary the Original.



Note 1

- CBUEHRHentAdda.com All Exam Study Hub

Directions (3. 136-140): Siudy the following table
earefully and answer the questions given below It
Price per kilogram (In Rs) at which 5 different farmers

sell 6 different products
Farmers

Pradurts P Q B 5 T
Rice 20 15 20,5 24 o
Wheat 18 16 15 15.5 20
_h_wu- 16.5 L5 18 20 15
| Bajm 15 14 14.5 13.5 12
Maze 13 14 125 12 14.5

| Sugarcane| 10 g 11:5 10.5 ]

136, What is the difference between the average price of per
kg of Maize sold by all the farmers and the average price
of per kg of Sugareane sold by all the farmers?
1)Re3 2)Rs4.5 3)Rs4.2 4)Rs 3.6 5) Nove of these

137. What is the ratio of the total price (per kg) of all the

products sold by © 1o that sold by R
1p41:43 2)43:48 334346
dydl 48 ) Mone of thesa

138, If farmer ) sells 14 kg of Wheat, 21 kg of Jowar and 30
kgs of Suparcane, whae will ke his total eaming?
1) s 659 )RsTT9 3)Rs 650
AR5 TRE £) Mone of these

139, If farmer P sells 50 kgs. of Rice and farmer S sefls 60 kg of
Wheat, what is the difference in amount by either of the

farmers in selling their produces?
1) Bs 70 2yRs 635 I} Rs 80
4)Rs 85 5) Mone of these
140, If each farmer sells 100 kg of Jowar and 50 kg of Bajra,
which farmer will earn the most?
ne nr s 40 )T

Directions (0. 141-145): Study the following graph
carefally and answer the questions given below it

Number of Students studying in Variows Colleges from

Num ber of students

ssEs&zg 2

Colleges :

141, Wheat is the difference between the tolal number of students
studying in college H and that studying in collegs K7
116100 2) 15800 3116300
4) 1600 Iy Mone of thesa

The

142, What is the total number of students studying in all the

colleges mgether?
1) 520500 2) 520700 J 610200
&) $10800 5) Mone of these

143. What iz the ratio of the students from the faculty of
Science from colleges H and | together to the students
from the same faculty from colleges J and K together?
134345 2y41:43 T)d5:43
dpa3:41 5) Mone of these

144, The number of sudents from the faculty of Science from
college 1 is approximately what per cent of the woal
nimber of students studving In that college?
1y34 nn 2 4331 ¥

145. What is the averags number of students from the faculey
of Commerce from all the ¢olleges wopgether?

1) 36835 238635 3115625
4) 36585 5) Mone of these

146, 12 children can complete a piece of work in 21 days,
Approximately, how many children will be required 1o
complete the same piece of work in 15 days?

124 4 3z 17 520

147, Mangesh spends 17% of bis monthly income on
travelling. He spends 25% of his monthly income an
household expenses and 36% ol his monthly income on
medical expenses. He has remaining amountof Rs 10,032
as cash with him, What is Mangesh's anmeal income?
1PR3550300  Z)Re536300  3)Hs 547200
4) Cannot be determined 53 Moz of these

148, The product of two consecutive even numbers is 3248,
Which is the larger number?

15 e 356 4)60  5)Noneof these

149, The average marks of 65 students in & class was
calculated as 150. It was lnter realised that the marks of
one of the students was caleulated os 142, whereas his
actual marks was |52, What is the actval average morks
of the group of 65 students? (Rounded off 1o two digits
after decimal)

115125 55018
43150019 5) MNone of these

150, The sums f five consecutive odd numbers is 575, What
is the sum of the next set of the consecutive odd
numbers? )
11615 2635
4) Cannot be determined

HISLIO

155
F) Mone of these

Test-IV: Reasoning

151. In = certain code DESPAIR is wrinen as TFEQSIA. How
is NUMERAL written in that code?
OVHNFMBS — D)NVOFSEN
4)NVOFMBS 5) Mone of these

152, If it is possible to make only ene meaningful word with
the first, second, sixth and tenth letters of the word
DISCLAIMER, which of the following will be the third

HNVOMFBES

Information Provided here. is only for referenoe. If HMay Vary the original.
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be made, give “Y" s the answer.
i DR HD HX  HY
153, How many such digits are there [n the number 27561493
each of which is as far away from the beginning of the
number as when the digits are arranged in deacending
arder within the number?
1)Mone 2)0ne 3)Two  4) Three 5} More than three
154, If*yellow” is called 'red”, 'red’ is called *blue’, ‘blue’ is caled
‘white", *white" is called ‘black’, “black’ iscalled *green’,
and ‘green’ is called "violet”, what is the colour of clear sko?
1) Green 2) Violet 3) Yellow 4)Red 5) None of thess
155, It was 9,35 am in Rakhi's watch, which kept comect time,
when Reena informed her that the last bus left the bus
stop &t 9.25 am. Reena's watch is 5 minutes fast. The
frequency of the bus is every 20 minutes. For how long
must Rakhi wait to catch the next bus?
1) 5 minutes )10 minutes  3) 15 minutes
4) 25 minutes 5) None of these
136, Which of the following should come next In the given
seguence of numbera?
2432431243122431232421213
12 2)3 4 4)5 5) Monc of thess
157. How many meaningful English words can be formed with
the letters EDOM, uging each letter only onee in each
word?
1)None 2pCne  2)Two  4) Three 5) More than three
158, Four of the following five are alike in a certain way and
0 form & group, Which is the one that does not befong
to that group?
1) Mephiw 1) Cousin
4) Brother 5) Sister
159, How many pairs offetiers are there in the word SECURITY
each of which has as many alphabets between them esthere
are in the English alphabetical series?
1)None Z)Two 3) Three 4) Four 5) More than four
160, Ina certain code STAR is written as 35% 2 and TORE is
written 2 $IE. How is OATS written b that code?
13 %33 2)IkE5 3)35k5
4) 355 5) Mone of these
Directinns (0). 161-165): In each of the questions below
sre given four stutements Followed by four conclusions
mumbered L TL M and [V, You have to take the given statements
o be true even if they seem to be at variance with commonly
kmown facts. Read all the conclusions and then decide which
of the given conclusions logically follows from the given
statementy duregarding commaonly known eta.
161. Statements: Some doctors are lawyers,
All teachers are lawyers.
Some engineers are lawyers.
All engineers are businessmen.
Conclusions: 1. Some ieachers are doctors.
IL Some businessmen are lawyers.
ML Some businessmen are teachers.

3) Miother

GoyemtrigntAtdzcom AllExarrStudyhiub

43 Only [fand
162, Statements: All plnstlus are glasses.
Some sponges are glasses.
All sponges are clothes.
All clothes are Hauids.
Conclusions: L. All liquids are sponges.
IL Some plastics are clothes.
ML All glasses ase plastics.
IV, All liquids are clothes.

1) Mome follows 2) Only either 11 or IV follows
3) Only IV follows 4) Only 11 and IV follow
5)Nonz of these

163, Statements: All sands are beaches.
. All shores are beaches,
Some beaches are trees.
All trees are hotsls.
Conclusions: L. Some shores are hotels.
IL Al beaches are shones,
ML Some beaches are hotels.
IV, Some sands are trees.
1) Mone follows 2} Only 1T follows
3)Only either [ or 111 follows 4) Ondy IV follows
5) Kone of these
164, Statements: All parrofs are pigeons.
Some crows are pigeons.
Some sparrows are crows.
All sparrows are koels,
Conelosions: 1. Some koels are crows.
IL  Some panols ane crows,
OL Some sparrows are pigeons.
N Mo crow is a parrot,

1Y Omly 1 follows 2) Oy 11 filbowes
3) Omdy 1 and either [l or IV follow
4) Omly either | or 1T follows 5) None of these

165, Statements: All chairs are tables.
All tables are cushions,
Some cushions are trolleys.
All trolleys are lamps,
Conclusions: I.  Some lamps are tables.
IL  Some trolleys are chairs.
ML Some cushions are lamps.
. All chairs are cushions,
1) Onky I follows: 2) Only I and IV follow
3} Omly either Tor I fallows 43 All follow
5) Mong of these
Directions (. 166-170): Study the following information
carefully and answer the given questions;
AB,C, D, E, F, Gand H are eight friends sitting around
a circular table facing the centre. A sits second to the left of
D, who is third 1o the left of E. C sits third to the right of G,
who is not an immediate neighbour of E. H sits third 1o the
right of B, who sits sccond to the right of G
185, Who sits between D and C7

The Information Provided heoe.isGniyg..focsefrrenoe.. L. May Vvary the Original.
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167. Whe sits second to the right of E?

18 P 3G 43C  3@None of these
168, What is the position of A with respect 1o HT

1) Third to the left ) Third to the right

3) Second to the left #rSecond to the right

) Fourth to the left

145, Four of the following five are alike based upon their
seating arrangements and so form a group. Which i the
one that does not belong 1o that groap?

NCH 20 HDA 4HBE 5GB

170. Which of the foilowing pairs has the second person
gitting 1o the immediate Jeft of the first person?

DB DNEH 3)FA 4)GD  Srhone of these

Directions (. 171-175): These questions nre based cn
the following letter/mumber/symbol arrangement. Study it
earefully and answer the questions.

EFB20EKT%S5AISGDY4URC6H@mMI3

171 How may such numbers sre there in the above
arrangement each of which is immediately preceded by a
consonant and also followed by o symbaol?

1) Mone 2)One  3)Twa  4) Three 5) More than thres

172 Which ofthe following should replace the question mark
inthe following series based on the above arangement?

2EK, %Al, G54, 9
1)46H 2UCE 3)*CH
A} *6@ 53 Mone of these

17X, Which of the fallowing is the fifth to the left of the seven-
teenth from the left end of the arrangement?
s NG A 4D 5 Mone of these
174, 1Fall the naombers are deleted from the above arrangement,
which of the following will be the rwelfth from the right

end?
% 2K  N* 4)C 5) None of these

175. How many such symbols are there in the above
arrangement each of which is immediately preceded bya

Qi susT ReLEasen N
37
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Directions (176-180): Read the following information
carcfolly and answer the questions, which fallaw :

P+ Q" means ‘P is son of Q.

‘P x )" means 'Pig sister of Q.

‘P + Q)" means ‘P is brother 0f Q.

‘P =) means “P s mother of ',
176, How is T related 1o 5 in the expression ‘T = R+ V + §'7

1) Sister 2) Mother 3 Aunt
4) Uncle 5) Mone of these

IT7. How is T related to 5 in the expression "T = R+ ¥ -5'7
1) Father ) Gister 3) Daughter
4} Aunt 3) Mone of these

178 How is 5 related to T in the expression ‘T +R=V +5'7
1jUncle 2) Nephew 3)5on
&) Cannot be determined 5) Mooe of these

178, Which of'ibe following means that *S i the husband of T*?
NT=R-¥+8 T-R+Vx8 NT-R+V=+5
$HT+R=V+8 5) None of these

180, How is V' related 1o T in the expression T+ R+ Y = 87
1) Aunt 2y Nephew 3) Miece
4 Uncle 5) Mone of these
Directions (). 181-185): Each of the questions below

consists of & question and two statements numbered [ and 11

are given below it. You have to decide whether the data

provided in the statements are sufficient to answer the
question. Read both the statements and

Give answer 1} if the data in Statement [ alone are
sufficient (o answer the question, while
the data in Statement 11 alone are not
sufficient to answer the question.

Give answer 2) if the data in Statement 11 alone are
sufficient to answer the question, while
the data in Statement [ alone are not
sufficient to answer the guestion.

Give answer 3) if the data in Statement | alone or in
Statement 11 alone are sufficient to anawer
the question,

Give answer 4 ) if the dnza in both the Statements [ and 11
even together are not sufficient to nswer
the question,

Give answer 5) if the data in both the Statements | and 11
together are necessary to answer the
question.

181. How is A related to BY
L A isthe sister-in-law of C, who is the daughter-in-

law of B, who is the wife of D.

IL B is the mother of A's zon's saly unele's son.

182 Amongst A, B, C, D, Eand F, cach are having & different
height. Who is the shortest?

L Cis shorer than only B.

I Ais taller than only D and E.

1£3. Point X is in which direction with respect to ¥
L Point £ is at equal distance from both point X and

information Provided deessen-des o Smdorals peC s [t May Vary the Original.
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consecutive right tums after walking 5 kms
each tum leads to point Y.
184, How is “must’ written in a code language?

L ‘“you must see” is written as *la pa ni* and *did you

see’ is written as *jo ni pa’ in that code language,
1L ‘vou did that' is written as “pa 51 jo' m that code
Ianguage.
185, On which day of the week does Arti's birthday fall?

L Sonucorrectly remembers that Arti's birthday falls

after Wednesday but before

IL Raj correctly remembers that Ani's birthday falls

before Friday but after Tucsday.
Directions (). 186-1%0): Below In each question are
given twostatennents [ and IL These statenents may be cither
independent conuwees or may be effects of independent causes
or o common cause, One of these statements may be the
effect of the other statement. Read both the statements and
decide which of the following answer choices correctly
depicts the relationship between these fwo statements.
Mark andwer 1) if statemsent [ is the cause and statemend
11 is its effect.

Mark snswer 2) if statement [1 is the cause and starement
1 is fns effect.

Mark answer 3) if both the statements | and [1 are
i CALSRE,

Moark answer 4) if both the statements | and IT are effects

of |nd|!p¢'qd|:ﬂ|. cuses,

Mark answer 5} if both the statements [ and 11 are ¢ffects

of some common cause.
Computer education has been made compulsory for
il the classes by manmy schools.
IL The current job market prefers computer-literate
workforce.
The standard of education in evening colleges of
the State has been deteriorating.
IL The standard of school education has been fast
deteriorating in the State.
All domestic airfines increased the fares m all sectors
with immediate effect.
IL Railways imcreased the fare of all its classes with
immediate effect,
The prices of fruits and vepetables fell substantially
IL The quality of fruits and vegetables improved
considerablly over the last few days
Recent floods in the area changed the nutritienal
contents of the soil.

IL Farmers in the arca switched over to cultivating rice

instead of wheat

Directions (). 191-195): In the following questions,
the symbols £, 5, %, % and @ sre nsed with the following
meaning s illustrated below :

‘A # B means *A is not greater than B,

185 L

187. L

188 1L

Gové‘mm&mIAddaamm AlEEXaii:S

“A % B' means “A is neither greater th mmlluli‘

“A (@ B' means A is not smaller than B',

Mow in each of the following questions, assuming the
given stabements to be true, find which of the two conclusions
Iand 11 given below them is'are definltely troe and give your
answers accordingly.

Mark answer | ) if anly conclusion 1 is true.

Mark answer 2} if only conclusion [1 is true.

Mark answer 3} if either conclusion | or Il is true.

Mark answer 4) if neither conclusion 1 nor 1T s tree.

Mark answer 5) if both conclusions T and 11 are true.
190, Statements: A#B, B%WC, CwD

Conelusions: L. C@ A ILASD
192 Statements: PSQ, Q@S S%R
Conelusions: L P @ R ILRSD)
193, Statements: Wh X, XEY, YSZ
Conclusions: L W 4 Z ILW@Z
19, Statements: GEmH, HEFJ, I%K
Conclusions: L K & G LI %G
195 Siatements: N (@M, MSP P#T
Conclusions: L T# N ILPxN

Directbons (), 196-200): Study the following information
carefully and answer the given guestions.

A, B, C, D, E, Fand G are seven friends studving seven
different branches of engineering, namely Mechanical,
Chemical, Electrical, Electronics, Civil, Computer and
Acronautical Engineering, not necessarily in this order. Bach
of them stedies in three different colleges, X, Y and Z. Mot
less than two study in any college. D studies Electrical
engineering in College X. The one who studies Chemical
Engincering does not study in college Z. F studies
Acronautical Engineering in college Y with only B. A does
oot study in college X and does not study Civil Enginsering.
E studies Computer Engineering and does not study in
college X. G studies Electronics Enginesring but nod in collepe
X None in college X studies Mechanical or Civil Engineering,
196. Which of the following groups represents the persons

studying in college Z7

1)D,B DGEG NAG
HNGEA 5) Mone of these

197. In which of the following colleges does C study?
X oY nz

A}Either X orZ  5) Cannot be determined
198. Which of the following combinations is cormect?
13 A-Clvil-Z By B-Chemical-Y
3 C-Chemical-Z 4) G-Electronics Y
5y None of these
199, B studies which of the following branches of engineering?
1y Chemical 2} Mechanical ~ 3)Civil
4) Cannot be determined 5) None of these
200, Whe stidies Chemical engineering?
1:3 Hc NE
4jA 5) Mone of these

1 The Information Prowvided he s o5 bR kbukel - hhkEsis Bt e oMy Yary the Original.
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& | 7.4 B4 9.2 . 2
1L | 1.3 132 D45 15. 1
16. 2; As per recent. report 200E, sbout 9%
of all workforce in Indin is engaged in imfor-
mal of unrganised sector
17. 4 )
18. 3, Sennll Scale Industries contribuale
mearly 403 share im the total indusied ous-
jput and 35% share in total exports of India.

1.2 W1 W3 1] 3. 5
4.1 M2 %3 1.1 I3
2.3 M4 3.3 33 12
M 31 M2 .S 3% 5
3.4 404 411 4L 3 43 3
4431 455 464 4T3 48, 4
4.2 55

%1, 2; The last semence talks of “social dis-
solutan®.

52, 4; Before mentioning “the task for most
af 2% i hard enough®, the muihor wiks abous
how e sogicty i3 slow in its transforma-
tion

53. 1. The suthes cautioes ws how our 2eal
for trensformation should not blind us o
the ﬂﬂiﬁu thai exist

&4, 4; "Beliefs® are what one preaches. Te
'mﬂy them iy 1o prociies ibem,

£5. 1; The pasampe says: "l iz not one, buk
many gencratioms. Each of the seven nges
of man is neighbour 1o all the rest.®

56, 2; Read the sceond somtends of the thind
para

£7. 3; The author says that these sriginmied
“in 8 cortain real of supposed fiscss™ and
then relates the figtness 1o "satisfying meed®,
58, 5; [ somcthing rany doww, if loscs power,
59. 5, It means ‘o superviss or watch
closely’.

&l 5; If someihing is dnocked up, it is pres
pared quickly and without any special care,
61, ¥ If you make something over o some-
body, you wansfier s ownership 1o them,
2. 2; Example: His charm dossa't wiard an me
3. 5

64. 3; Substitole omes for Lalle

635. 1; Substitute af

GE. 2; Substibme wha

67, 3; Dedete do moe

£8, ¥ Substitute s

&5, 4; Substibeie ome another

T, 4; Substibole favour

71 ¥, Sobststute when.

T2, 1; Swhstifube was,

3. 4; Substitate fluent,

7. 1; Subsiitute was mfempdimg

™5

TS I OTWME T B, &
BL4 BEL4 BRI BLS BS. 4
86, & There are two wrong usages: in (1)
the Wd several i misspedl, and in (3} ar-
seviind shoult be the BppECprigls wond,

&7, |; indgfatigable 8%, 1; slipped
B9, I; laughier M, 4; amurgl

reviouspapers. C‘D
|, p!: s P El 9%, )|
All \anLSj;udy Hub
101 2 g — =
100, 5 S.nm 144 96 126 .!.n.enh: fraction be oy
103 4 1. 1 13 | Thea
106, §; The series is . A
wi w10, W2-10, w310, wd-10, *5+10 100 17
130 = 4 . 10 = §30 . 10 = 510 gl
107. 1: The series is +2 +1 2
4 Mty 11 E. L
Tel=1is =%/tTF Ty
108, 1 it LA 20,
S i i 121, 3; Average =—
-3, 4, <27, -Bl, =243
264 - M3 = 21 E22. 2 Reqd % = g =100
100, 4 The serics is ' ,
+30, 447 467, 407, 410, et
123, 5, 375 - 175 =20
102+ 6% = M2 £ 36=138 o 19 -
101, 4; Total income of & = 433 lakh
x s LT h
Monthly income uf.ﬁ.f—?xu-mslﬂ? 125 4; EE';-E:-IDU-M
425 5
ik T b 126, 3, S xl2n258
113, 3; (36565 - 30.7) lakhs o
s X
W 5,500 134 2 3743 = 14.86
25
114, 4; ——x100xT = %% 3 43
4TE10 $ t -tn*h}u-b]]
—— . ] Toial inzome zuﬂs“um .5r-|4;4-:++.|f57.35:|
Wo of' years 129, 4; YTl =9
116, 1: Maya's monthh
aya's I;::::| ¥ Encome ‘I:-?—i-n
:?m:mam_masuu 9322 = 158 =200
1w 2 130, 1
118, 5 N is repeaied taice.
Hence the required answer will bhe 131 4 Mh]ﬂl
“% T awdwdAndns
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Hotbe

= E-y =]

ja g S2xlde28-13 812
' 5 &0

13, %; RBeguired pescenlags bW

65
Bl — Al —
— 100

21353

H
llm--'—u_ﬂlmll!m

Maoter Use alligation. Since ratic is 1 ! 1,
T9% should be berween 65% and the regd %
Az = Ei%

1351
e5-48 IR
—_——me—a s A
136 4, 5 i
13T, 3

1.2 167 14+ = 15+ =8
=234 &+ 318 & 20 = 779

138, 1; 1000 - 930 = Rs 70

140, 3; By viewing the data given.
141, 4; The difference is

2.2+ 11516 = 14T

16.7 = (000 = [&,700

141 2
"
B2 6 43
!Il:l:l----iﬂhh:l-ﬂl-
Y — lil-
148, 5 Lj:jamn--. IB62S

12x2] B4
§r x| W [T
146, s 3

147, 5; Rematnbng = 100 - (17 + 25 + 34)
= 31%

Given, 22% = 10031

1% —m:;:ulﬂ]:!u 45600
148, 1; Let one sumber be x
Then the cther numbser is x + 2,

WwwwW.previouspapers.co.in

GavernmentAddazeom All EX

+ 5) =
!.:aﬂullumrnnpum
Henoe x = 56
Bigger mamber b5 x + 2 = 50
Motes Check through given chodces.
149, 2; Todal marks calealaied = 65 = 150
Mt toted = &5 = 150 + 1D
= @75k + 10 = 9760

¥T60
Aceunl average = 55
180, 5 5 consecwtive odd 'I'Illm are X, X
#.x+d, x+6x+l
Also,
Xrxrltxtden+brx+E=i73
= 5x + 00 =3T3

-Eﬂm:s

= 1-.’—:58”1

Mexit set of consecutive odd numbers are

mellx+* 12 .. x+ 1§
Sum = Sx+ 70

= 5w [1] + 70 =625
151. 4

= |
3

+

e
-CI} -t:-[vi—

et
Similarly,
¥ 3
i

Ty

15 !-: The desiced letters mre D, L A end B
The words that can be formed of these let-
Igrs are ARID and RAID,

183, 1;

Bf 2

+

o
e
+
-nl i d=m

el

Alsa, ‘The number 2 i 161491
¥ + 1) = 524K Indessnding order: #|7) % 5 43 2 |
1 Ths Toformetiog Prowvided b I“' s “‘h’t—ylﬂul l:lrlhl .kFJ-L:EIrﬁﬂBM

- amTeTay N T W e P -

AEn Stticly Hub

A0 M el ot (925 — 0005 =) 920 am. coenect
time

., Mt bes will beave mt {9 20+ 030 =) S 402 m
. Rakhi mugt wail for (940 - 935 =) §
minobes

156, 3; 243 /2431 724312 F 243123 1
2438134

157, 4, DEMO, DDME and MODE

158; 2; In ol pdhers, the sex cam be deter-
mined

e e et
19_;;3EE"UE[’T
[s]T]a]r]olE]

A FEIFER
COATE = I 8 8
161. 4; All ieachers are lowyers {A) = con-
version — Some lawyess are deachess (1),
Henee 1V fallows, Maw, Some doctors mre
lmwyers + Some lmwwers ars isachors = [« [ =
Mo conclusion. Henee | does nol follow, Some
engineers &ne lawyers ([} — cosveribon —
Some lewyers are engineers + All engineers
are basinesomen = | + A = | = Some lmvyers
are businessmen — Sonversaon — Some buski-
messmen are [owyers, Hence 11 follows. Blug,
Al leachers aro lowyers # Some lmwivers ane
bustnesamen = A 4 | = Mo eanclution, Henee
111l does nod Todlow
162 1; All sponpes are clothes + All clothes are
lsguids = & + A= Al sponges ane liquads —» Com-
version ~+ Some hqusds are spoiges {T). Hence
| deses not folkow, All plasiics are glasses + com-
version of Some sponges ane glasses = A+ |=Ho
comclusion, Heae 11 doss mot folbow.
All plastics wre glasses (A) =+ Comversion =p
Some pheszes are plastics (1) Henoce NI does,
mol Tollow, AN cioghes are Thquids (A} — con-
wersion =+ Some liquids are chothes (1), Hence
¥ does oot Tollow:,
163, 5; Some beaches are trees + All trees
are hotels = | + A = | = Some benches are
hotels. Hence 111 follows. Now, All shores

180, 2:

ee beaches + Some beaches are hotels = A +




M
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Bome besches are shoses (1) Hence 01 does
nol folbow. All sands mare beaches + Some
beaches are trees = A + | = No conclugion
Hence |V does not folbow,

164, 3; Soma sparcows Are criws + Same crows
e pigeans = | + | = Mo conclusian. Henoe
I does ned follow. Some crows are plipems
n-—= lon <+ Some pig are croves
(1. Mo, All pameas are pigeons + Some pi-
geoms are crows = A + | = No conclusion
Hence Il does not follow. Mor does 1V allow.
Hawever, conversion of |1 forms an [-E
complementary pair with [V. Honoe eather 1
o IV fgllows. Some sparrows are crows (1)
—¢ CONVETSION —* S0me Srows an spaiows =
All sparraws are kosks = 1 + A = 1 = Same
crows ar koiks — conversion —+ Some kocli
e crows (1), Hence L

165, 2, Some cushions sre trolleys + All wol-
leys mre lamps = | 4 A= [ = Soms sushions are
lampa. Hence 111 follows. Adl chairs are mbles
# All tables are oushions = & « A = 4 = Al
chairs are cushions. Hence [V follows. All
tabdes are cushions + Some cushsons are lamps
= A+ | = Mo conclusion, Hesce | does not
folbow. All chairs are cushions + Somo cash-
joms mte irofleys = A + | = Mo conclasion.
Hence [l does not fodlow.

1&6-1T0¢

D66, | 167.2 &R 4

168, 3; In all cthors, ibe sgcond persen is
second 1o the vight of the firgt

1T0. § ITL 3; 2 end 7.

172, 1; The corresponding elemeni moves
five places forward in the subsequest group.
173, 5, 5th to the left of 17th frcan the lefy
= (T - & =) 120 from the beft = |

174, 2. IF all the numbers are deleted, the
Affangenienl beddmed
FRCEK%ASODURCH@E

175, 4, 8, Cand §

176 §;

g
T{-J—R[fj—J‘(-h
Hemze T is the daughter of 5
m. 2
Vi)

Te)—R(%)  §
178, #;

bte : ‘The nformation Provided here

ViH—8 abion & determining the canfeuhinm of selenls.
i 187, 5, Thene seems Lo be Same comenon Ciese
% ix either the nephew or nsece of T. that b3 lesdimg 1o deterinmazion in bo kinds of
L wducation.
Tia}==Ri=) T ST 188, 5; Hike in foel prices secos 1o be the com-
: Mos ERIEE
Vi+i—8 ¥} 189, 4; The twa elTects are unrelaied
1949, [, The farmers’ decision is appasently an
(1 21 | effestof change in the sail
5 ix nephew or niece of T. Absard relatiansiip. | ygq, A <B . (i B=C .. (i), C< D {i)
T~ Bl) Combining these, we get A B=C<D.
Hence C & Amnd | fodlows.
Mest, A< 1 A t fod-
Ri—Vin hf:: and henee 1A £ D) dos s
3} 19L& P>Q (i Q=8 iy 5=R .. (iid)
5 is husbasd of T. Combining theie, we get P>z 5=R
Weneod not go further Hemes P> Rand | (P 2 Rb does not fisllsw,
180, 1; Also, e 5 0 and I (R > () does not follow
R{+p—W{-}—35 R WX L(KXEY (i)Y >Z o (i)
Combimg these, we pet WX < Y > . Henoe W
mnd £ can't be compered. But zither | (W < £)
Ti+) or I1 {W 2z Z) must follow as they form a
Hence 'V is the auntof T cnmplementary pair
181, % From I: A is a female. 1M 5. 0eH . GkH=T @) I=K . {iii)
Unlmg thils In 10, we gei: Combining these, we get G2 H» J=K
B = modher of A's son's paly usdlc's son Henee K < G and § fllows,
= mather of A's 500’5 cousion Also, J < G and I follaws
= mother of A's Brothes-in-lw's wife 195 I MM (iM=>P_GikPsT i)
182, 4; Statcment | ghves us the two taliess | From (i and (i} Nz M =>ParM =P {iv)
persons. Hence it is mot sufficiens, .| Hemex P < M and I folbows
Fromn [, eithvey Dog F is the skoniess, Henge 11 | From (iii) and {iv), However, T and N cps't be
i& alss mot sufficient contpared
183, 3; Stmiement | is of nouse becasse we dont | Honce | does not follow
kmivw the directbons, 196-200:
Stalement I is safficient becouse distamces and
direciions have Bosa given properly :
184, |; Statement 11 o B o S e
you must see = la pa ni (i A z Hiectancal
did you se= = joni pa (i} B ¥ Civl
Fram (i) and (i), you ree=pa m . (idi} - .
Uisdngg (k) bn (i), wee ger muse =la e ud Chemical
Henea [ slons is sulTiciont o X Thorca
Bt [ i@ oot even remoetely coanecicd with E 4 Cofmpaier
‘must’, F Y rem———
::i:l‘m- I: Ani'y hintday falls on Thu, Fri G = ot
From Ul It falls on Set, Sus or Mon 196.4 197,01 1945 1993 200,32
- -
aTe fewet mead 7 )
o dharyl g firfirat
o gw e g

o Y sy o gt st F oF a9 §
ST YFras FETuT S o s o five wte o wesd F |

| T Zram uE & e g 259

i MERIRENE ST e e P il BES4r Ery the Original .
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